Precalculus Name

I. Multiple Choice
Y Ik .
C_ 1.Ifsin 0 <0 and tan 6 > 0, then in which quadrant does 0 lie?
A1 B \@) D) IV
C 2. Given an angle of 230°, its reference angle is:

(A) 130°  (B) 40° (D)30°  (E) None of these

B 3. The domain of y = sin (x) is:

(A) 90°<x<90" < (B) D<x<+oo (€) -1<y<1 \
(D) 0<y<180° (E) None of these
C 4. The range of y = cos (X) is:

(A) -90°<x<90° (B) -00 <x <+o0 (C) -1<y<1
(D) 0<y<180° (E) None of these

o} 500 - (@”—/-57)"

53
C_ 5. The exact value of csc[s—”j is = J—S:r - \ i JE/:’ Z/
3 Sin = _% =/~ = (&
(A) ? (B) ¥ C) —% (D) 2 (E) None of these
D 6. Given that sin 6 = —% and tan 0 <0, determine the value of cos 6.
QY

(A % (B) @ (©) 26 @ (E) None of these L2 )2=EZ

5

% 7. Determine the exact value of sin(%rj S
2

@—1 (B) —ﬁ © ﬁ (D) % (E) None of these

5

2 2 2

C_ 8. Determine the amplitude of y = 3 sin (2x) + 4

(A)1 (B)2 @ (D)4  (E) None of these











































































































































































































































































































































































































































































MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Convert from degrees to radians.

1)210° = (5025 ~T T

7T ki
AN B3

Convert the radian measure to degree measure. Use the value of = found on a calculator and round answers to two

decimal places.
)n2 =

A) 1.57° B) (m/2)° C) 90w

OO

7T

D)5

Find the value of the unique real number 8 between 0 and 2= that satisfies the given conditions.
\

2

4) cos O = - - and tan 6 =0

3n 57 [ 27

Evaluate without using a calculator by using ratios in a reference triangle.

Sysec240°= _\ . L _--Z

QUMD -

2w —’_E%:>
3 a
CQS(,/Z%L)I) =
@/ QOB = -

D)

N

028

D) - /3

-

D

9

Point P is on the terminal side of 8. Evaluate the six trigonometric functions for 0. If the function is undefined, write

!ﬂ

"undefined." ) - 20 Y
b 7) P(12,16); find csc 8. = <N\ w — %

Iz

a7 B3 0

Evaluate without using a calculator. LL

8) sin 8,ifc058=% andtan 9 <0

7
A)-7

Q) - 33

D) -

7)

8)

D

















































































































































































































































































































































































































































































































































































































































































Evaluate the trigonometric function of the given quadrantal angle. If the value is undefined, write "undefined."

9) cos 3 9) *_/
A B)1 C) undefined D)o

Find the trigonometric funct)u)n value for the angle shown.

10) sec © % _ 10) %
=%
2
?.."(;L = a

7 6
- - - ¢ -
C) secB D) secH

11)a=240,b=129,c =175 11)
A) 6326.96 B) 10,987.87
C) No triangle is formed. D) 6312.86

oblem.

Solve the
12) The minute hand of a clock is 13 inches long. What distance does its tip move in 28 minutes? 12)

A) %‘F{ in. B) %‘ﬂ: in. Q) %1 in. D) %n in.
State whether the given measurements determine zero, one, or two triangles.
2oz 19A=53,a=3b=3 13y C_
N A) One B) Zero
*xE" 78
¥ 02> 14)C=30a=34,c=17 ® - W B
=5 N \5}" A) Two . @ % C) Zero
‘qu b Coonf | sm3S A=
Solve the triangle. 2¢ 17
15)A=42°B=30°b=8 5 C
(g/lﬂﬁ_amﬁ c= 153 B)C=108% a=6,c=11.4
C=108,a=107,c~153 —18° awbcmll.
= ! !
0
Lg/u %2 20
A : €’
y’ S(r\
'S’%a A























































































































































































































































































































































































































































































































































































































































































97 59. Find the period of y = —4cot(2x) 2

(A) & (C) 27 (D) % (E) Mone of these

| —c0s*O _ an2S L >
‘D 60. Simplify the expression -1 completely. The result is - =F=n? S

|
cos’ @ Q)W) e
(A) cot” @ (B) sec” @ (C) 0 (E) None of these

S 61, simplify 2 completely. = @er . S~ L

csex ) ek
e

(A) 1 (C) tan’x  (D)cotx (E) cot” x

k 63. Which of the following could be the equation of the function g(x) graphed below?

11y

Wi

WA

X
3 %«'/

/\ | /”\ ’
¢/

/
b / v / \z.,
2%
& \\ -
i (B) g(x)=-2sin(3x) (C) gix}--imf{%)

(D) g{x}--isin{g] (E)  g(x)=2sin(3x)

> 69. Let @ be an angle in standard position. The terminal side of & intersects the unit circle at

S — 2
[-E, “2]]. Find cotg. = 258= = X . —= o

5 5 Sin® B -
= =

(A) 21 {B)g (©) -é (E) —+21


































































































































































































































































































































































































































































































































































